All India Trade Test - 2024 for Crafstmen Training Scheme (CTS)

Trade Name: Turner_Year 1
Year: 1st Year

Exam Date :
Exam Time :

Note:

1. Tick the correct option out of four alternatives provided
2. All questions carry equal marks (2 Marks each)

3. There is no negative marking

Max Marks : 150

NS; Client %1 estion Question Body and Alternatives

Trade Theory
1 What is the name of the machine?

AR T A R’

MM111313

A

! The sensitive bench drilling machine
f\Z The pillar drilling machine
oo f3fefr =it
! ‘:A3 The radial drilling machine
Yega fefeim ==
fM The gang drilling machine

Trade Theory

Which angle is preventing the cutting edge from rubbing action?

BT I DI B el YR B WS J Tl 82

fM Web angle

EEEIL)

52 Rake angle

& B0
:A3 Clearance angle
[REASIEAL]
A4 Point angle

g @i

Marks

2.0

2.0

Negative
Marks

0.00



Trade Theory
What is the drill point angle for drilling mild steel?

TTEEE Wid @t 3o & f fya uige Taam g2

.Al 140°

140°
A2
. 130°
130°

A
. 3 120°

120°

A
.4 118°

118°
Trade Theory
What is the use of try squar?

T[S WP 1 T STAIT 37

:Al Marking line at 90°
90 fST W i ¥
f\Z Checking flatness
FET B Wi BRAT
63 Checking squareness
WY B (g Bl
?(M Setting work picce at right angle

TE PR BRI GUS BT Y HRAT
Trade Theory
What is the name of “V’ block?
SV 'Sl BT AT T 5?

FH13141

“V’ grooved “V’ block

vV IAS v

A2 . . -

. Single level single groove ‘V’ block
Rivet daat Ria ga v il

,A} Double level single groove ‘V’ block

Al

9@ dad RiTa 49 'V "SAle

2.0

2.0

2.0

0.00

0.00



64 Single level double groove ‘V’ block

RivTe dad S9a@ Ja 'V sl
Trade Theory

Which chisel used for squaring materials at the corners, joints?

PR IR Ty R TR FH IR H & o8 g S+t 1 3o fora S g2

AT Elat chisel

RIC B

?Az Cross cut chisel
B BT B!

:AS Diamond point chisel
srHs uige ¥t

54 Half round nose chisels

TP IS A et
Trade Theory

Which chisel is used for separating materials after chain drilling?

I e & a1e Hefvae B oferT A & AT o S+t 1 ST o e 22

A

! ‘Web chisel

Jg B
:A2 Flat chisel
e SR
%3 Cross cut chisel
B BT B!
{M Diamond point chisel
SIS e St
Trade Theory

What is the formula to find minor diameter of thread?

9IS 1 7Y T 1T P BT T AT 82

{\1 Minor dia = Major dia — (2 x pitch)
Minor dia= Major dia — (2 x pitch)

{\2 Minor dia = Major dia + (2 x pitch)
Minor dia = Major dia + (2 x pitch)

A3 . g

.~ Minor dia = Major dia + (2 x depth)
Minor dia = Major dia + (2 x depth)

A4 . . Lo

. Minor dia = Major dia — (2 x depth)

Minor dia = Major dia — (2 x depth)
Trade Theory

What is the name of tap wrench?

gy R p1 T T 82

FI11788

{\1 Box type tap wrench

S ergy ey =

2.0

2.0

2.0

0.00

0.00

0.00



AZ Solid type tap wrench

Jifers ergu 2 i

{\3 ‘T’ Handle tap wrench

T ¥sa ey i
4 Adjustable tap wrench

TSoResd oy i

A

Trade Theory
10 What is the name of part marked as ‘X’ in drilling machine?

SR o= & x & U o fifga wrT o1 A R R

A

! Drill chuck

IENEED

2 Feed handle
BIS gsq
AS Driving motor

SEfdmHRR

54 Depth gauge and stop

3o e IR g

Al

g ) Trade Theory
11 \ What is the name of the marking tool?
| ¢
I SR BT AT 72

FH 10244




2 12
1313
"
]
14 14

Al Scriber

I BT 3R

52 Surface Plate

IWHY =

AB Universal surface gauge

P EENEREEIE]

64 Fixed type surface gauge

RR yeR @1 Jag 9

Trade Theory
What is the name of the hacksaw blade element marked X?

P IS ded X BT A1 T 82

X

FrH11013

,A] Depth of tecth
AR

../\2 Pitch of teeth

il 1 for

A3 Width of teeth

EARICH G SIE]

54 Length of blade

CSECHEEIE

Trade Theory

How many numbers are in metric tap set?

Afee ¢u ¥ # fbd TR g1 87

Trade Theory
‘Why the tap drill size to be calculated?

2 3T 3MHR B 70T - BT Y

_Al To avoid drill breaking

fsaafF s & for

52 To avoid material wastage

Wi 3iverg ¥ se1 & g

53 To calculate sufficient cutting speed

2.0

2.0

2.0

0.00



PTe B TAT Tl BT MU HRA & oY
A4 s . .
. To maintain sufficient material to tap

29 & fore vfe ARl §91g e & fog

Trade Theory
What is the part marked as “X’?

X gRI fafgd farar wmT 82

MM110344

fM Peg

el

.AZ Leg

=l

f\3 Fulcrum
SR

é4 Knurled nut
BEEREH

_i"ra_dc 'Eheory

Which punch is used for locating center of the hole?

T3 U 1 TR 5 o g o b b TN S &2

:A] Dot punch
e U™

:A2 Prick punch
O u=r

:A3 Center punch

Joxva

54 Hollow Punch

grgdl ug
Trade Theory
Which tool is used for cutting internal thread by hand?

3Rk VS P 8T Y Bl & T fobg BT BT ITANT fobam S 82

.Az Tap
g
3 Drill

fea

,A4 Reamer

I

A

Trade Theory

What type of tap wrench is used in restricted places?



59 YR &1 U i o Wi B T o o 22

,Al Bar type tap wrench

TR Ry U i

52 ‘T’ handle tap wrench

& Feacu g
3 Solid type tap wrench

B UHR &1 ¢y =

{\4 Double ended tap wrench

Saq Uss U i

A

Trade Theory

19 119 How the calipers are classified?

o o1 2 Fefiepd frar s 2

Al Size
3THR

_AZ Accuracy

'A3 Material

[t
54 Joint & legs

Siige R &R

4 __Trgdc T.heory

20 20 What is type of the lathe bed?

WY IS BT B YT UBR 82

TU120815

] Al
] y
L vae

A

“V’bed

2 Gap bed
Juds
Flat bed way

Rl GCECE: |

A3

_A4 Combination bed

REISEES)
Trade Theory
21 21 Which type taper is provided at the hollow end of the tailstock barrel/spindle?

TP & WA/ F BIEd R TR P 71 R a1 man g

fM Jarno taper
SHI TR
,Az Morse taper

IR

2.0

2.0

2.0

0.00



AS Metric taper
fifew TR
54 Brown & Sharpe taper

TS 3R I AR

22 22 What is the name of part marked as “X’?

X’ gRI B I HI fRifgd 82

Trade Theory

TUH20411

:A] Tail stock
R
éz Tool stock
A Wb
Head stock

TSP

‘_A4 Compound rest

A3

HUSS e

Trade Theory

23 23 What is the name of part marked as x’ in center lathe?

X’ GRT &g TWRIE BT I ITHNT fdied a2

WM

Bed
ES)
../\2 Carriage

Hiewt

,A3 Compound rest

PUFS I
_A4 Quick change gear box

@R ulkada frR st

2424 What is the use of gap bed lathe?

Y 98 Y BT 7 ITAIT 82

Trade Theory

2.0

2.0

2.0

0.00

0.00



Al To turn larger diameter work

TS N & HT & gAH & forg
52 To turn small diameter work
BIe A & ST B gAA & frg
AB To turn irregular shaped work
fafird 3mepfa % o & gam & faw
64 To turn lengthy work
o Pl B gIH & o
Trade Theory
25 25 What is the name of the part of compound rest marked “X’? 2.0
X GRIHURSS ¥ & fafgd I 1 Am 82
x—"
£
H
H
AT 5ip
EE)
52 Tap slide
o wss
.A3 Cross slide
EIREIESS
_A4 Swivel base
ISERIEIPIN
Trade Theory
26 26 Which part of the lathe is ‘H’ shaped cast iron on the bed ways? 2.0
TY P I8 & SHW W BIF Y G0d1 Alg B S YT BT HHR H & GHH gl 872
Al Saddle
I
.AZ Top slide
< wEs
53 Tail stock
EaRSED
A4 Cross slide
EIREIESS
Trade Theory
27 27 Which part of carriage is only for possible manual operation? 2.0

PRSP DI Y HIT BT Bad & U= FHa 82

{\1 Apron

wH

0.00

0.00



30

:AZ Saddle
Jsa

f\3 Top slide
RIEESIESS

A4 Cross slide

B WSS
Trade Theory
28 28 Which mechanism is also called as reversing gear unit?
T o7 ) wfdradt! iR 318 +ft g1 ST 82

:A] Tumbler gear
Faer feR

§A2 Change gear unit
iR aRad e

:A3 Quick change box
@R afvad Sie

54 Apron mechanism

L EIGE]

Trade Theory

29 29 What is the name of the part <X*?

T <X T ATH T 82

TWHZ1112

‘_Al Driver gear
'
SRR R

! 'AZ Main spindle

et gl
{\3 Spindle gear
fafed frer
fM Tumbler gear
TR AR
Trade Theory
30 What is the name of part marked ‘X’ in cone pulley head stock of lathe?

X R ERIE F 7S W B B gell & P a1 1T farfeet 82

2.0

2.0

2.0

0.00

0.00



31

32

31

32

TU120814

:A ! Chuck
Eca

?AZ Pinion
e

.A3 Back gear shaft

o iR <R
54 Stepped cone pulley

UG WP IR

‘What is the purpose of back gear unit in cone pulley headstock of a lathej? <

Trade Theory

Y P P Il 88 TP 1 9 TR GFIT $1 I FT 32

:Al For helping step turning
Ry T FgmEa & o
2 To double the spindle speed
e 1 71 BT QT PR b o
:A3 To get increased spindle speed
isd ot 9 g2 fa U &= & forg
é4 To get reduced spindle speed

Y fRisa T U & & g

A

| What is thg n;me of the accessory?
|
\ HeID JUHRUT T ATH T %?

Trade Theory

Tui1222

,Al Face plate
Y&
‘_AZ Angle plate

DIV TS

,A} Catch plate

Fawe

2.0

2.0



A4 Driving plate

SHEUAN
Trade Theory
33 33 What is the name of the part “X’?
HIT X T AT 132

THI2

{\1 Face plate

Y&

.A2 Catch plate

Fawe
{\3 Driving plate

I we

A4 Safety driving plate

IREM TR we

4 ?Frqdc fheory

34 34 What is the name of the center accommodates in the main spindle slecve?

T (RT3t wWhid § TR fhT SHaret P o1 919 97 52

A ! Dead center

SS IR

.AZ Half center

3T Yex

A3 Pipe center

TETIR

54 Live center
[SIECRGN
Trade Theory
35 35 What is the inclined angle of dead center conical point?

ST FT F YGIAHBR W BT FHTa BI01 a1 51T 82

:Al 90°
90°
'AZ 60°
60°

.AS 50°
500
54 30°
30°

Trade Theory



36

37

36

37

‘What is the name of the part marked ‘X’?
X R g umT &1 Am R g

S

TU1200vT

_Al Live center

AR Yer

52 Catch plate

Fawe

63 Lathe carrier

W[ dlgh
_A4 Driving plate

e wie

‘What is the name of the center?

FE BTAH ATR?

Trade Theory

TUA2074A

:Al Female center
Higel B
?A‘z Ordinary center
YR H5
:A3 Revolving center
A dTell b5
I ?A4 Sclf-driving live center

) T STSfaT TZd Hev

Name the lathe accessory shown.

forame 71U Y TR} & AW S|

Trade Theory

2.0

2.0

2.0

0.00

0.00



39

41

39

41

TuioTe

:Al Fixed steady
rars <

‘:AZ Travelling steady
afer R

53 Roller steady

IR TSt
54 Cat head

TS

Workslg)p?lalculati?m Science

‘Which metal contains iron as a major content?

370 o u1g o o AeEfl & =0 A digl g 62

f\l Brass metal
et g
:A2 Bronze metal
EERLH
f\3 Zinc
i
l :A4 Ferrous metal
| Fﬁg %I'Iﬁ
Workshop Calculation Science

What is the other name of low carbon steel?

9 BT W BT R A /Y

.Al Low alloy steel

S iy o1g 3,
A

2 High alloy steel

REAEE LIGESIG)

.AS High speed steel

9= i a

4 Mild steel

Beob Wi

A

Workshop Calculation Science

What is called mass per unit volume of a substances?

ol ueref & gorar ufd 3TS 3T &) T Hed 82

2.0

2.0

2.0

0.00

0.00



_Al Mass

SHTT
éz Weight
HR
:A3 Density

Yid

A4 Volume

SIEGET

Workshop Calculation Science
42 42 What is the work done in unit time? 2.0 0.00

U 3hTs JHT | far a1 &t gl 32

'Al Energy

K 2 Power

RIES|

53 Force

qd
64 Acceleration

U7
Workshop ¢ C?_alcqlati;l Science

43 43 ‘What is the ST unit of pressure? 2.0 0.00

T4 &1 T3S, SHTS 132

{\l Joule

K

,A2 Pascal
U
Bar

TR

54 Newton

S

Workshop Calculation Science
4 Which is the unit of current? 20 0.00

YRT B 3BTS T 82

.Al Ampere

TR
2 Volt
diee
Ohm

3|

54 Watt

Al

A3

qic
Engineering Drawing
45 45 Identify the conventional symbol of material? 2.0 0.00

A & YRURS Yclieh o1 g2



EDNG 1811002

Al Lead

s
{\2 Steel

T

,A3 Glass
E3El

64 Porcelain

52 Wood

T et
Engineering Drawing
46 46 Identify the conventional symbol of material?
FH & URURS Yclleb o1 gge?
&
z # # :
;
N Concrete
i wrigH
.AZ Steel
EXIGH
,A3 Wood
el
54 Glass
P
Engineering Drawing
47 47 Identify the conventional symbol of material?
IRl & URURS Udie H Ugar?
vy v,
¥ L d
L 4 »
L g
v 2
MRS :
» A ¥ > » o
2
[}
_Al Steel
BRG]

2.0

0.00



e
:A3 Glass
EIE)
fM Concrete

3

Engineering Drawing
48 48 What is the trimmed size of A4 sheet?

A4 e &1 fom faman gon SR w1 82

fM 841 x 1189

841 x 1189
A2 594 x 841
594 x 841
A 2105207
210 x 297
f\“ 148 x 210
148 x 210

Engineering Drawing
49 49 Which drawing dimension is correct as per IS standard?

1S A & TR $I- T LT SHTTH Tgt 82

Al

A2

A3

A4

2.0

2.0

0.00



50

51

52

50

51

52

Engineering Drawing
Identify the name of prism? 2.0

o 7 forame U oy 1 A T B2

ECNGH 12008

fM Rectangle prism
37T forsH

A2 .

.~ Square prism
IR oA

'A3 Triangular prism

Byl oo

A4 Hexagonal prism

TS fored

4 Employability Skills

Fill in the blank with correct future tense of verb. “We to the zoo after Breakfast 2.0

Toram & wEt Wiaw et & w1 Rad = HR 1 “we to the zoo after Breakfast
?M went
went
X are going
are going
:AS had gone
had gone
4 will go

will go
Employability Skills
Fill in the blank with correct word. “They good friends” 2.0
o o Wl wrsg WY “They good friends”

am
am
A3
. are

are

0.00

0.00



53

54

55

56

53

54

55

56

Employability Skills

Fill in the blank with present progressive tense of the verb. “The train

fopa1 & aaam yrfaRiia e o 91y Rad RIF WX 1 “The train

! passed
passed

2. .
is passing
is passing

.AS had passed

had passed

4 .
was passing

was passing

Employability Skills

through the tunnel”
through the tunnel”

Fill in the blank with proper interrogative adjective. are you going?

Eﬁras‘a?‘lﬁféa o & Ty e = R are you going?

fM Who
Who

Al

2 Where
Where
™ Which
‘Which
{M What

What

Employability Skills

Fill in the blank with proper pronoun:*I made this cake

o =i 7 I IS\ & WY W1 <1 made this cake »

Al myself

myself
; yourself
yourself
™ himself
himself
itself

A4

itself
Employability Skills

Fill in the blank with proper pronoun. “She made this cake
feaa =i & S ™ & T1Y 4R | “She made this cake »

,Al itself

itself
2 myself
myself
?U herself
herself

A% pimself

2.0

2.0

2.0

0.00

0.00



himself
Employability Skills
Fill in the blank with proper reflexive pronoun. “She has hurt ” 2.0

o = # 3 ufdadt a8 & 91 H31 “She has hurt ”

Al myself
myself
A2 herself

herself
A3 himself
himself
A% iiself
itself
Employability Skills
Fill in the blank with suitable adjective for the given sentence “The little girl’s...... eyes revealed her mischief” 2.0

%Q RINGIER) Ea f%‘l'q SUYd faRIwor & a1y fRad R WY “The little girl’s...... eyes revealed her mischief”

.Al chubby
chubby
{\2 weak
weak

'A3 short sighted

short sighted
A% {inkling

twinkling

" Employability Skills

Fill in the blank with suitable place pljcpogition. “My housc is the third floor” 2.0
SUYed R W & 7Y R RIF WK | “My house is the third floor”

Al gt

at
in
in
A3
. oon
on
A4 under
under

Employability Skills
Fill in the correct question word. « is the speaker at the function?” 2.0
e T e 1| = is the speaker at the function?”

fM What
What

Al

2 When

When
.A3 Why
Why
{\4 Who

Who



61 6l Low level language is also called

Employability Skills

REERAUMH  Noaaad

1
source code

I Bl

A2 iddle ware

HIOR]
A3 .
.~ machine language

4 assembly language

et v

62 62 Pronunciation refers to

Employability Skills

_Al diphthong

TG TR

2
consonant
S

3 .
punctuation
[EREIEE

4 production of sound

afa P I

63 63 Re-arrange the following set of words into'meaningful sentence. “teacher / school / worked / she / a./ as”

. Employability Skills

eg) & FAEfead I & rfes arga# bR T ogafRyd B3| “teacher / school / worked / she /a / as™

_Al School worked as a she teacher

School worked as a she'teacher
:’\2 She worked as.a school teacher

She worked as a school teacher
:A3 She teacher worked as a school

She teacher worked as a school
A4

. Worked she as a school teacher

Worked she as a school teacher

64 64 Rise and fall of pitch of voice is called

31T 1 ot 1 I 3R R

Al
. vowel

TR
2 intonation
ST pT SdR-deld
A3
.~ consonant
Eiee]
4 L
pronunciation

Employability Skills

m%

2.0

2.0

2.0

2.0

0.00



Employability Skills
The word that expresses a sudden and strong feeling is called

! punctuation
farm forg

2 interjection
[ERZCIEEICES
conjunction
GRISEER S

4 apostrophe

Employability Skills

When you greet higher official’s such as Teacher, Instructor or Supervisor, you should use

9 3Ty e, TiRTerds o1 Wi S I SifeTRal T SHfiaTe $Rd B, @ ! '

ey

A

! Good morning
TS AT
2 Hello

Gl

Al

n Employability Skills
Which is a silent letter in the word “ANSWER”?
“ANSWER” ¥ H & 91 b 3&R.8?

M

R

A2
E
Mg
S
Aw

W
Employability Skills

P IYGT HAT



68

69

70

71

68

69

70

71

Which one is a “Do’s” of discussion etiquettes?

T4f % RIEARI § ¥ SH 9 “Do’s” 32

,A] Loose your temper

STOT 37T |

‘_AZ Listen to others

B g
,A3 Talk about irrelevant details

ST faaRur & aR # a1
54 Use impolite or rude language

SUZ T AP UTT BT SUTNT B3

Employability Skills

Which one is a “Don’t” of discussion etiquette?

T4 FRIPTER &7 “Don’t” 82

fM Be open minded

e gan w@
,A2 Use moderate tone
T WR BT YN

{\3 Listen to others
TR B g
4
Argue unnecessary
AT 5 Y

Which one is a brain of computer?

HTCR BT AR B A1 87

_Al Keyboard

CACIS]

CPU

iy,

A2

_A3 Monitor
# Hard disk

TS fEwp

A

Which one is a cardinal number?

PISTA TR B AT 82

A3 v

VI
A4y

XI

| Employability Skills

Employability Skills

Employability Skills

2.0

2.0

2.0

2.0

0.00

0.00

0.00



Which one is a cardinal number?

FIETA TR B AT 32

One

e

A2 Bifin
.

A3 Eighth

1%

AHrédl
54 Second

QW0

Employability Skills

Which one is an exclamatory sentence?

DI 91 fawmnfesiys arag 32

A

! What a beautiful house it is!
What a beautiful house it is!
:A2 It is a beautiful house.
It is a beautiful house.
f\3 Is it a beautiful house?
Is it a beautiful house?

.A4 Your house is beautiful.

Your house is beautiful.

Employability Skills

‘Which one is in active voice?

iy 3MaTsl § &9 I 82

_Al Ram has passed the exam.
Ram has passed the exam.

.AZ The ball was caught by him.
The ball was caught by him.

A3 .

.~ The book was being read by her.
The book was being read by her.

A4

. We were driven home by dad.

We were driven home by dad.
Employability Skills

‘Which one is in passive voice?

fAfepy saw H P A1 g2

Al Mohan is painting a house.
Mohan is painting a house.
,Az She was reading a book.

She was reading a book.

A

3 Her birthday was celebrated by us.
Her birthday was celebrated by us.
54 I have seen that movie.

I have seen that movie.




Turner - 1st year (Eng) SET 2

Question Number

Correct Alternative position

1 A2
2 A3
3 A4
4 A2
5 A2
6 A3
7 A1
8 A4
9 A2
10 A1
11 A4
12 A2
13 A3
14 A4
15 A1
16 A3
17 A2
18 A2
19 A4
20 A4
21 A2
22 A1
23 A2
24 A1
25 A4
26 A1
27 A3
28 A1
29 A4
30 A3
31 A4
32 A4
33 A4
34 A4
35 A2
36 A3
37 A4
38 A1
39 A4
40 A4
41 A3
42 A2
43 A2
44 A1
45 A2




46 A4
47 A4
48 A3
49 A1
50 A2
51 A4
52 A3
53 A2
54 A2
55 A1
56 A3
57 A2
58 A4
59 A3
60 A4
61 A3
62 A4
63 A2
64 A2
65 A2
66 A1
67 A4
68 A2
69 A4
70 A2
71 A1
72 A1
73 A1
74 A1
75 A3
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